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1	Introduction
In RAN4 101-e-bis, some preliminary discussions on LBT impact to RRM are triggered. This is because in some regions LBT is mandated, also there is already RAN1 design mandating this feature. Some agreements are captured in the WF [1].
	· Adopt the relaxation methods used in NR-U (core requirements are extended to compensate the missed samples) as a baseline
· RAN4 will reflect the LBT failures by extending the RRM requirements by N*SMTC/SSB occasions when there is at least one SMTC/SSB occasion not available at UE within N*SMTC/SSB occasions, where N is:
· Option 1: N is equal to the RX beams sweeping scaling factor
· Option 2: N is defined on case-by-case basis
· Other options are not precluded


In this paper, we provide some of our thinking on how to specify requirements related to LBT.
2	Discussions
LBT operation is first introduced by LTE LAA and the NR-U. The main idea is that when using unlicensed bands, to ensure the fair use of the spectrum, transmissions can only take place when the channel is clear. The introduction of CCA impacts many aspects of RRM, since a lot of RRM procedures relies on transmission of downlink reference signals (such as SSB), which may not be transmitted due to failed CCA.
In the WI of NR-U, RAN4 has already developed a comprehensive set of requirements, dealing with the impact to RRM requirements. Usually what is done is that the core requirements are extended by the missed samples. In general, we think that the approach used in NR-U can be adopted here and use as a baseline, and this is already agreed by the last meeting. The detailed relaxation methods can be discussed with each draft CR preparation.
Another issue is how to choose the value of N, as listed as an open issue in the WF [1]. Here we think option 1 can be adopted as a general principle, while if for some specific cases the group observes any special issues, we can further discuss. Missing one SSB would usually mean that the UE cannot monitor it at least for the rest of beam sweeping cycle, so N equaling to Rx beam sweeping factor makes sense.
RAN4 will reflect the LBT failures by extending the RRM requirements by N*SMTC/SSB occasions when there is at least one SMTC/SSB occasion not available at UE within N*SMTC/SSB occasions, where N equals to the RX beams sweeping scaling factor is adopted as the baseline.

3	Conclusion
Proposal 1: RAN4 will reflect the LBT failures by extending the RRM requirements by N*SMTC/SSB occasions when there is at least one SMTC/SSB occasion not available at UE within N*SMTC/SSB occasions, where N equals to the RX beams sweeping scaling factor is adopted as the baseline.
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